iy

3
P=si
i

1. ¥¥4
B4 RFDACE AR e AME IER G HI3E RS
JBA T HRBBESATHREII3 THSEL 15 (SBREMEEL

2. EBEAR
1) FHI4 HEEEFGHTT  THR
455 HI[H H &f1 64 7H 3H

2) JE1THIR
£ o TH 9H30H

3) wHwyI
ARYS L, KRG O RAIEER T R O EIRE, —RRREm

at. BICRIEBI MR BHER S 21T 9 B T D

4) FEHBNA
1. ERFENERGE, 2. SRR, 3.
EIERRGT. 5. (ERHEWRENERGT. 6. BIRIBIH IRk

ARG, 4. BEAEN

E sz TR R



I

BN

Tl
P

==
=]

¥4 | KIALERERFAAME ERRE MRS ¥ BGES
H H ERRERET
THHE - THE - R BT B & 4 H OB RR
TEFEET v 1 23, 048, 876
TERKRFT 2V 1 9, 765, 230
TE AR 2V 1 9,765,230 | EHFEMEREE (A)
0.08)1  (km) =X
8 N1/1, 000
ERFEEEE (A)
0.3 )1 (km =X
8 N1/1, 000
TEFRFEHIEREE (A)
0.62 )1 (km) =%
#ER1/1, 000
TEM RIS ERkE
0.2 )1 (km =
— xRS ER T = 1 3, 578, 500
— SRR R X 1 2,803,860 | /) HERE
(1 )1 (& X
FEANEEY)
GIWaF- it
2 )1 @Epn=xX
FEANEEY)
EmARBEEE (% E)
1 50
FEANEEY)
EmARBEEE (% E)
2 &P
JEUEIEY)
— SR EME %R = 1 774, 640 | 7 VEyANLEUERE DB —A%X
1 &P
7" VERAME 9 AEI— %I
-1- ES e’ =M i3 Wi 4 )



i
I
St
%lljll
I

¥4 | KIALERERFAAME ERRE MRS ¥ BGES
HH ERRERET
THH - THE - FER BT #H = 4 H OB RR
2 (505
Bk = 1 9, 705, 146
R AR E 2V 1 9,705, 146 | FREEAMGEMIE IERT
3 &P
Vs PEARMRE 2 L
FHEE e IEYE
2 &P
Vi AR 8 Y
Hagax et 2V 1 12, 254, 572
et = 1 12, 254, 572
TERLREEREE (Jkim) 2V 1 1,121,440 | BRYREA (fETEERED
1 X
TELAEHIER G (FBIIAERE ) X 1 7,232,752 | A—Fv A — v (FGHIP14R)
1 pAe
FEAREE
F =T = (FEIP14L)
1 #
SRS EY)
HHELT— A/ AEIE oD B AT
1 =
FER IR EE Ot ) = 1 3,900, 380 | fii TAFH (FEHP 1 4)
1 =
i TEHEE LT (thjgela) | 146 _EFBT)
1 =
Ji CEHEEE (FEHEmLUHE LT
) 1 =
IR E R R = 1 6, 860, 152
IR R E = 1 6, 860, 152

-2 - E sz TR R



= N R
H 5 FIR =
kR | KAAGEBGRTENME ER G HZERS E AT ESS
HH A E R T
THH - T - R A7 # & KA OB ORR
PGt/ Eaibre = 2,180, 197 | Bk 3{% T
1 £k
FEARNEE
R PR T
3 £k
U EY
IR SR S E R =X 4,679,955 | Bk T
9 4k
W B ERR =X 900, 740
s a BHERK = 900, 740
W& EHERR X 900, 740 | BEREEBE G EHER
1 A
B Aty = 900, 120
B ik = 900, 120
R oAy = 900, 120 | BiHugsA
2 [A]
BiStii} = 1,022, 200
im REEHER) = 1, 022, 200
TavsE = 774,200 | FTAE
1 =
BIFAHEREFT Atk
1 =
D, = 120, 800 | A [RIT HhkAL
1 |
IRE RN L DA
-3 - E 2wy IR



==
=]

m
2
%

¥4 | KRidbERBREAME ERREHh 3RS E i BOES
H H L3l
THH - T - fER] B fr ¥ & 4 % BN AR
2 ]
BRI ERL = 1 127,200 | AR SLER
1 E30
[R5 S =4 52V 1 944, 000
[ERES S E2V 1 944, 000
i Gk 2y 1 244,000 | ff#y (Gt E - BAME)
1 X
Ty 2 1 700,000 | FEFRRA A ERCE
1 A
B (Z Ot mER <) X 1 45, 930, 660
Z DA = 1 23, 881, 878
— R A = 1 37, 587, 462
SRR = 1 107, 400, 000

-4 - E sz TR R



